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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1) This question paper comprises five sections — Sections A, B, C, D and E.

There are 13 questions in the question paper. All questions are compulsory.

(it)  Section A - Questions no. 1 to 5 are very short answer type questions, carrying

2 marks each. Answer to each question should not exceed 40 words.

(iit) Section B - Questions no. 6 to 8 are short answer type questions, carrying

3 marks each. Answer to each question should not exceed 80 words.

(tv) Section C — Questions no. 9 and 10 are long answer type questions, carrying

5 marks each. Answer to each question should not exceed 120 words.

(v)  Section D - Questions no. 11 and 12 are case-based questions, carrying

4 marks each.

(vi) Section E — Question no. 13 is map-based, carrying 3 marks with two parts,
13(a) from History (1 mark) and 13(b) from Geography (2 marks).

(vit) There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions

have to be attempted.

(viii) Attach map along with your answer-book.

SECTION A
(Very Short Answer Type Questions) (6x2=10)
1. Why has India adopted a multi-party system ? Explain. 2
2. Examine the significance of air transport. 2
3. How do political parties shape public opinion ? 2

4. Why did Indian merchants and industrialists support the Civil
Disobedience Movement ? Explain. 2
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5. feu 7w yarg-=are o1 AewIq hifSu 3K 39es A9 feu v ywEi % I fafau

p e e E =010
()

(5.1) o T4 o TolU 3Trevdeh YRYd 919t -6l 3 ? 1

(5.2) IEF IAM H HoF GGG 1 Teh 3aTEWT ST | 1
Qs g

(F1g-3Tta W9 ) (3%3=9)

6. AU TS U I god 3R A I H TG BT WG UGl HH b AT
Qleh TLIUAT ol &1 HL AT F&U 91 |7 9Rd o dcy § 30 hod 6l gie

1T | 3
7. (&) O % NUINGh AW IS Aidl § A TIs Hifr | 3
HAAT
(@) dh, Ta<ii™ JuMTc! o Teh Hd 9eHh o &9 H fhd TR HE Hdl g ? T
ity | 3
8. ‘Uh-goly AT hi fehegl i foiwarsti =t wyse i | 3
Qus 1
(e 3w u9A) (2x5=10)
9. (%) “TAhad IMEA, AT FaEri (faehedl) & Eal & | 39 HYF I
forveryor ST | 5
HAAT
(@) &/ g | diedd o fomm % T Wit wmeA o wRon @ faverv
I | 5
10. (%) fagefi MR IR SERI % ThHIHW b HGH H AR I IR
ity | 5
HAAT
(@) “GFEm % I AT hl Sl dTell AveTRUl UfshAT H SgUSed syt
Ueh TH@ Ik Wl & | 39 Y i A™ETd 38UST | 5
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5. Study the given flowchart and answer the questions that follow :
‘ N e N 2 — e
Fibre Spinnin Weaving Dyeing and Garment
Production . | Knitting Finishing manufacture
J/ % J/ b J .
) W) L)
(6.1) Which is the basic material required for garment manufacturing ? ¥,
(6.2) Give one example of value addition in the textile industry. 1
SECTION B
(Short-Answer Type Questions) (3%3=9)
6. “It was essential to preserve folk tradition in order to discover one’s
national identity and restore a sense of pride in one’s past.” Support the
statement in reference to India. 3
7. (a) Differentiate between formal and informal sources of Credit. 3
OR
(b) How does a bank work as a key component of the financial
system ? Explain. 3
8. Explain any three features of ‘one-party system’. 3
SECTION C
(Long-Answer Type Questions) (2x5=10)
9. (a) “Democracy is a better form of government than any other
alternative.” Analyse the statement. 5
OR
(b)  Analyse the reasons for the overwhelming support for the idea of
democracy all over the world. 5
10. (a) Assess globalisation in terms of foreign trade and integration of
markets. 53
OR
(b) “MNCs have been a major force in the globalisation process
connecting distant regions of the world.” Justify the statement. 5
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11.

12.

Qus Y

(hE-ATTA T97) (2x4=8)

= ST U g I SAHYE® dfeT 3T 38 = fqu MU g o 3w fofen
T srefsaaedt i sfta W@

950 G dh SR YT YNEed glar Uw HiHd &3 d &l foRa ST
o | fase qum Wenfiehl o foshm o @19 [N 9 UiEsd & 99E &9 § fowqga
9fg g2 B | W 9 g id ot uitesd @ NS HER Th &% e H ufafdd @
T 8 | UNEEd 1 I8 foshmd T=R 91eEil o foehrd & 98r™dr § & 99d 81 Tl
3 | HIOT ies, H9R 9 SR Th-g8L o 06 @ |

A G A faRrer e, fafagdst, W qun @G 9 Wi
Wﬁ%ww%mﬂéﬁﬁgﬂmwﬁgslg&ﬂ%|{<r1 1 T
S UieEd, WHERGH, A, grend, fadmt quwr see, ol 3@
Hmr%lmaﬂf@i?m*ﬁwﬁwmwuﬁﬂaw% AT o TAUT Tl
TR JIGEAT bl Sia WAk & 8 | 394 gAR g ol d9g fopam g aan
IS o o foIu Glagnsti g dreqr | deiadl i & |

(11.1) dfEsd = faeh™ | o3 fohd TR T Tgaqul e g ?

(11.2) HMINH 9 HEhideh Sgadl sl Uidsd fhH FhR Thihd HAT 3 ?

s ST |
(11.3) Tret g & foTu 9= & ggwa &1 fagawor Hifse |

= feu T g w1 SHYE® dfey 3T 38 = fou U gl o 3w foafew
TIAAan fead hi v, 26 JFal, 1930

T fovamm 2 T fohell off gue &1 T8 YR ST &1 i 98 U 378
(inalienable) 3T R & foh 3= ISl fUet, 319 Agd o1 %ol i 3T Sfiad
61 Bt TTavIshaTd gt 1 NHE 378 M ded & UNYYl FeeR fied | gET I8
ot favam@ 3 Tor afc s it TR T SHGT ol 34 ST | diad Wadl 8
3R GETdl 3 a1 SHdT sl Wt TThR I Fga- AT 38 THA FHTH HE h1 (DR
2 | uRa ® fafew (fsrafi) owahr 3 9 haed AT SFdT ol Taaaal | dfad
foran 2 sfess SEE SAaT &1 wwwr foRam 8 3R W &l eTiieh, ToiHifdes,
ATEh{deh Td SATeATfcHe T W A8 L G 7 | s9faie g9 favam 2 6 wia
I AR €9 § {5 o Y 394 gt ga4l I GATH Hleh P @S ITH

e )
h{dT =T8T |

(12.1) TIGIdT skl YA AT <kl TR SRR A1 JHET T=T 2

d

1

Page 6 32/1/2

-

»
gcollegedunlaa
India’s largest Student Review Platform



52

SECTION D
(Case-based questions) (2x4=8)
11. Read the case given below carefully and answer the questions that follow : 4

Lifelines of National Economy

For a long time, trade and transport were restricted to a limited space.
With the development in science and technology, the area of influence of
trade and transport expanded far and wide. Today, the world has been
converted into a large village with the help of efficient and fast moving
transport. Transport has been able to achieve this with the help of
equally developed communication system. Therefore, transport,
communication and trade are complementary to each other.

Today, India is well-linked with the rest of the world despite its vast size,
diversity and linguistic and socio-cultural plurality. Railways, airways,
waterways, newspapers, radio, television, cinema and internet, etc. have
been contributing to its socio-economic progress in many ways. The
trades from local to international levels have added to the vitality of its
economy. It has enriched our life and added substantially to growing
amenities and facilities for the comforts of life.

(11.1) How 1is science an important factor in the development of
transport ?

(11.2) How has transport integrated socio-cultural plurality ? Explain.

(11.3) Analyse the significance of communication for a nation.

12. Read the case given below carefully and answer the questions that follow : 4
The Independence Day Pledge, 26 January, 1930

‘We believe that it is the inalienable right of the Indian people, as of any
other people, to have freedom and to enjoy the fruits of their toil and have
the necessities of life, so that they may have full opportunities of growth.
We believe also that if any government deprives a people of these rights
and oppresses them, the people have a further right to alter it or to
abolish it. The British Government in India has not only deprived the
Indian people of their freedom but has based itself on the exploitation of
the masses, and has ruined India economically, politically, culturally, and
spiritually. We believe, therefore, that India must sever the British
connection and attain Purna Swaraj or Complete Independence.’

(12.1) Why was freedom considered an inalienable right of the Indian
people ? 1
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(12.2) WRA o AR g Ui TS Sl STE9TH T HHET 737 2 1

(12.3) <hIUH o AR ATGAIT (1930) o AETT hl SIRSIT hIfT | 2
G L

(AT e uv) (1+2=3)

13. (i) fqu MU WA & TsHIfde W@i-aEeE (98 11 W), d Fefafiga e
H EREdT 4 ‘A’ % ®9 ° Tafgd Tom & ggee hifse i 3 um

Wi T8 [T W 3TRT Fat AW fdAfge |
A. 98 TIM J&T 891 o AU FTHEINT el bl Iy Todm =T | 1
(i) Teu 7Tu WRE & H W-AART W HAAfdRgd &l 31fehd hifoe 37 3
am fafgu |
(F) (O T Y] Sl T 1
arerdT
(II) STTee |TFER SFTaArs qreh 1
(@) sfeu Mt TSy gdrs g 1

Fig:  FElikga ye7 et giEEtiaa ahenfdar # g ye7 gy 13 % €& W

g / 3x1=3
(13.1) 39 TS &1 M foIRgu S8 1927 ° YR TSI hild i 3T(eayH
g | 1
(13.2) (%) 39 TST 1 919 TOIRGT & T GTHTY] o1l 93 29q 7 | 1
HAAAT
(@) 39 TSF &1 9M fARgu JgT siTefe GiFea?R daictisl qreh fRd g8 | 1
(13.3) 39 WL &1 AW filgu S8t sfeu et STausdiy gams Ja fed 2 | 1
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(12.2) Why was Purna Swaraj considered essential by the people of
India ? 1

(12.3) Explain the significance of the Lahore Session of Congress (1930). 2

SECTION E
(Map-Based Question) (1+2=3)

13. (1) On the given political outline map of India (on page 11), identify
the place marked as ‘A’ with the help of the following information

and write 1ts correct name on the line marked near it.

A. The place where Non-Cooperation Movement was called off

due to violence. 2

(11)  On the same given map of India, locate and label the following :

(a) (D Narora Nuclear Power Plant 4
OR

(II) Bengaluru Software Technology Park 1

(b)  Indira Gandhi International Airport 1

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 13. g l=3

(13.1) Name the State where the session of Indian National Congress
was held in 1927. 1

(13.2) (a) Name the State where Narora Nuclear Power Plant is
located. 1

OR

(b) Name the State where Bengaluru Software Technology Park
is located. 1

(13.3) Name the city where Indira Gandhi International Airport is
located. 4
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For question no. 13
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Outline Map of India (Political)
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